


For the 1st sec.
in 
Mathematics






































[bookmark: _GoBack]

[image: ] 


























[image: ]
[image: ]




























[image: ]
3 | Page

image1.png
Answer the following questions :

a If the sum of the measures of angles in any regular polygon = 180° (n — 2) where n is the
number of sides » then the measure of an angle in regular hexagon in radian

@ g 3 27 L4
3 4 3 2
e The angle with measure 312 Jics in the «e quadrant.

6
@ first @ second @ third @ fourth

o In the opposite figure :

D
CD touches the semi circles M at D
If2CA=AB=6cm.

B M A el
stheil CDi= = cm.

@6 3 ©313 @27

Qo In the opposite figure :

Two circles touching internally at A
sthen ED = --ovocenean cm.

@2 ®3
©3s @4

(e In the opposite figure :
AB isan arcina circle whose centre O
» its radius length is 10 cm. » AB = 16 cm.

Find : 0 in radian measure » then find the length of arc AB

0 In the opposite figure :
BCNDE={F}>AB=6cm.,BC=12cm. »AC =8 cm.
»FC=3cm. ;BD=45cm.  DF = 6 cm. Prove that :

[1] AABC ~ A DBF [2] A EFC is isoscles.

(oIf:ZCosez_’\/—g,J'[<e<§2ﬂ,thene ...............

®F ®% - ©F @
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0 In the opposite figure :
Ifm(LA)=2m(LB)sthen BC = oo cm.

@30 ®21
@12 @10

o If sin 6 = sin 750° cos 300° + sin (— 60°) cot 120° where 0° < 6 < 360°
Find : 6

@ If L » M are the two roots of the equation : 4 X?+4=13x

Form the quadratic equation whose roots L + M s LM

K= e E

(@)30° (®) 60° X .
° o 28

(©)86 @26 \ A

@ In the opposite figure :
IfFX L AB>DY L BCyEZ 1 AC yAC=9cm.

sBC=12cm. sDE=4cm. sthen EF = -ooooooe cm.
@2 ®3
©s @

@ Which of the following is factoring to the expression : X244
@ x-2)(x+2) (®) (x+2)7

© -2y (@ -2 (x+21)
o

(@ In the opposite figure : -

If the area of (polygon DYFC) = 40 cm?

» the area of (polygon FEBC) = 32 cm?

» then area of (A AFY) =5 cm?

> then the area of (A AEF) = vt cm?

@ 3 @ 4
@ 5 @ 6
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@ Determine the sign of the function f : f (X) = X% - X + 12 and hence determine in IR the
solution set of the inequality : %% + 12 >X 5 represent the solution on the number line.

@ In the opposite figure : i

AB cos B+AC cos C= e cm.
@6 ()8

@ 14 @48 C gem. D 6cm. B

- ~
@ In the opposite figure : i
If the area of A ADE = 8 cm? E “p

;o5
» then the area of the figure o&
B

@27 '®64 @24 @16

@ In the opposite figure : X
XI= o cm.

@ 20 @ 144 Z 16¢m. L 9em Y

@ In the opposite figure :

O Z
AX//BY //CZ sEA=6cm. WY
’5&
EX =4cm.XY=3cm.,BC=7.5cm. o
Find the length of each AB » ZY E ¢em A B 73m C

@ The function £ : f (X) =2 X is positive in --oooe

@k OLY Or (@ORr-{0}

Q@ In the opposite figure :
AC eirennrnnnsns —
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@ The opposite figure show the curve 3 ( % o
y=sinXsthen|al+]|b|=

@ In the opposite figure :
ABC is atriangle s AD =4 cm.
DB=1lcm. s AE=5cm. sEC=7cm.

. Scm.

Tem.

Prove that :

The figure DBCE is a cyclic quadrilateral.

@ The product of the roots of the equations :
aX?+bX+C=0 > bX?+cX+a=0 > cX2+aX+b:0equals ---------------

@ABC (b)-1 @1 @zero

@1fx+yi=i‘5+2 4 ythen X+ y = -

@3 @4 @zero @,3

If the two roots of the equation X2 +4X+k=0are distinct real » then k &

(@) ]-=>4[ ® 145l (© =>4 (@ {4}

@ IfAM =12 cm. yr =9 cm. » where A is point outside circle M 5 then Py (A) = -ooveeveees
@65 ®)63 ©4 @7

@ In the opposite figure :
InAABC sAB=6cm. sAC=4cm. »BC=5cm.
AD bisects £ BAC and intersects BC at D

E C D B

AE bisects £ A externally and intersects BCatE = S

Calculate : the length of DE




